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Bk 0.050kV ~ 5.000kV
Tt - -
I 5 + (2%IEE+5V)
DI v
EAEHINE 1000VA ( 5.000kV/200mA )
BEAREUERR 200mA
TEREEFTCEE 0 ~199.9mA,0=FHIH¥T ~IR
FEIRAS L 200uA. 2mA. 20mA. 200mA
BHRE 1E3%R
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2: BE + (2%EHE+5V)
DI 1v
BRABIHINER 60W ( 6.000kV/10mA )
BAEERR 10mA
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O ES <5% ( 6kV/10mA )
HREERTIE] <200ms
RAFERER 10mA
B _EFHATE] 0,0.35~999.9s O=HE3/E FFHAEI%
MiztATIE] 0, 03s~999.9s O=i&ELEUhH
R & TNPEAT ) 0, 0.35~999.9s 0=E8/F FFEATEIX
I 0.0s~999.9s O=[alf@ATIEIR
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0 ~ 200mA

0 ~ 10mA

200uA Y : 0.1uA , 2mA & : TuA , 20mA £ : 10uA , 200mA % : 100uA

2uA £ : 0.001uA,

22mA A% (2%+50F) , <2mA A% (3%+51MF)
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1MQ ~9999MQ

1MQ ~9.999MQ:0.001MQ,10MQ ~ 99.99MQ:0.01MQ,
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